A £ 0l & AF & S

Al A

20233 & 204k LBHSIH AL WS
2A: Aduns
S Kone
ool HEpe 2 (Shol: &2)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
A4S 25,028,334 23,087,803 1,940,531
= 362,250
= 3,438,535
& 1,712,183
[ 19,515,366
INE-DL= 19,600 16,600 3,000
A4z22| 29 19,600 16,600 3,000
Adze| 248 A 4,400 3,200 1,200
201 Ler23| 2,400 1,200 1,200
02 222gH| 2,400 1,200 1,200
Ot KRl 200,000 =122 2,400
203 PRF=&Y| 2,000 2,000
03 A FAIHRFAIH| 2,000 2,000
O - DEHH AHET
166,600 * 12& 2,000
A&OIR o 15,200 13,400 1,800
201 B2 AY| 15,200 13,400 1,800
01 At 2elt] 15,200 13,400 1,800
(OINE=E=1=Satay=2 250,000& *50E K| 12,500
O==gs&X 7 15,000& *180E X| 2,700
oot =& 254,614 250,503 4,111
& 45,100
= 209,514
CHrE 2Y 254,614 250,503 4,111
= 45,100
= 209,514
SH2E XA 254,614 250,503 4,111
& 45,100
= 209,514
101 2124 d| 28,514 24,403 4,111
M IIRINZ2Z2XsSEs 28,514 24,403 4,111
Os - otd =201 XA 28,514
—Ql2i| 76,9603 *252 x 1201 2 23,088
—OIHH(Z=2R4H)
14,4302 x25 24+ 2 2,886
—40f B3 23,088,000 *11% 2,540
201 B2 AY| 600 600
01 AtR2telt] 600 600
SHells FLUSS0IEAL HIE S 7L
50,0003 *12& 600
307 2Iz2+0l™ 225,500 195,500 30,000
= 45,100
= 180,400
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20,740
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121,800
121,800
24,360
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Moo

5,040,470
318,000
200,000
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5,526,446
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318,000
200,000
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i
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515,000
15,000
500,000

500,000

15,000

401 Al HIZ R 0HbI

M

515,000
15,000
500,000

500,000

15,000

01 A&l

=g =54 XA

M H

515,000
515,000

15,000
500,000

500,000

15,000

=2lAlE JH - B(HEALY)

M

500,000
430,000
70,000

1,000,000

A500,000

401 AIEHIZ 20

M

500,000
430,000
70,000

1,000,000

A500,000

01 AlZHI

OAEXA HBLBAHTE)

=

M

500,000
500,000
430,000

70,000

1,000,000

A500,000

c|H =Xl

30,000

30,000

401 AIZHIZ 20

30,000

30,000

01 Al&HI
OM==Xl Mg SHIJIAI

30,000
30,000
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Ha: o)l X4
Chol: mQIMAD|BIAA &E (chol @)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
sHIIBAE 2g=+ 200,000 200,000
401 Al HIZL 201 200,000 200,000
01 Al&HI 200,000 200,000
O=LIIBAIE (M4=XI 11904, SR 59H
x 8)UE8s+ 200,000
SYIIEAIE EHl 2,481,000 2,103,000 378,000
401 AlZHIZ SO 2,081,000 1,803,000 278,000
01 A28l 2,081,000 1,803,000 278,000
Oztd =F7X =4 400,000
OR4X BHIAL(H4X =&, Aag B4
) 150,000
OZxits &gt x4 22,000
Ostitite =2 == ddl 30,000
O8% =2 N 30,000
OOtE0tS =YE Kot e 20,000
ougs s=+==2 | 30,000
OSttite 8 2+ 20,000
O8d =2 e 50,000
oot sY2= 52 e 30,000
OdSits s¢E Kot e 20,000
OZF =& Kot 20,000
O=dite =& Aot & 20,000
Ox0ts =¥ & Kot M 20,000
OEa0ts sHE Kot e 20,000
Otld =2 &xg 50,000
Oods s2 2% 20,000
Oz=<0t= =2 2 25,000
O3d =& Xlok= M 20,000
Og=0l= =& KXot W 20,000
OHellts =& Aot & 20,000
O =& Aot W& 20,000
OsxE =2 N4 34,000
O=20= gXE € & SHSA 20,000
Odsts 52 4% 2= 10,000
OX=ls(¢8) =28 =& 21,000
O8Nl s+=2 4= JH| 10,000
OX=E2e| s2 =1g 19,000
Ong =]X EHl 20,000
OUat Stli==2 &l 20,000
O&d s+2 &dl 30,000
Ol syE Klots JHE 25,000
Os3d S22 2 2 25,000
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Chol: mQIMAD|BIAA &E (chol @)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OHg =sti+=2 FHI 30,000
O=d 52 MEH 30,000
OF= sti+==2 &d| 25,000
ORXH =2 ¥ =2 EH| 20,000
Ol Bi+==2 &bl 20,000
Odgdlts s= A=3H| 25,000
OKNZ0ts shi+=2 2 20,000
Osdite ¢ sZ2HE 45,000
OM=z0lE2 =S+ 22 WL 20,000
osdl s2 =& 30,000
O+ s2 0tAZ 2& 30,000
Oog= s2 &2F 25,000
001010t #A 8 10,000
OL0i0ts =2 &x2d 25,000
O3l s M2 25,000
Od&ite s=2 dHl 15,000
O8ultls =2 HEH 20,000
O=gxlits =2 &hl 20,000
Ogdits s2 2& 20,000
Ogdlts & &x2d 30,000
OUA sg= KXotk e 25,000
OZgits MYz M2 25,000
OZ2&02 == &4 30,000
OsHl gt =88 =94 wA 15,000
OZ=0te == gl 30,000
ou=0ote == 3Hl 30,000
O¢=0l2 =2 84 10,000
odglts s2 2& 10,000
OAIZOtE s2 Z=& 20,000
Oognel s2 2% 20,000
Od= =2 FH| 30,000
OMXtH =2 FHI 20,000
Otlg s=2 23 20,000
o= Eti+==2 FH| 20,000
403 AXIEHMSAH=Z01d 400,000 300,000 100,000
02 SVI2S0 U H=E P EAIEI 400,000 300,000 100,000
OSUHESAF 22l sSIIEAIE 3| X3 300,000
OU=M==X =ESAt 100,000
sgoler 249 XI& 21,470 34,670 213,200
201 er23| 21,470 34,670 /13,200
01 At2teltl 16,670 31,070 A14,400
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Ha: o)l X4
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OS+=H| +2)
200,000 «2CH*10H S H R 4,000
O08E sEE+ =ZEAM
(130, 0002 *517H A )+( 160, 00024 1900 & ) 9,670
OsgIIEtEHIAIYE &8 £E88 T2 &
2F U AREE
300,000& x4 21x2.53] 3,000
2 35244l 4,800 3,600 1,200
OYxH s &L= (11H)
400,000 * 1200 & 4,800
oM=K QA E 20,000 0 20,000
= 10,000
o 10,000
401 Al HIZ R 0HbI 20,000 0 20,000
== 10,000
o 10,000
01 Al&HI 20,000 0 20,000
OMHAS M=K X 20,000
< 10,000
s 10,000
Ag2e| g M2 = 636,000 888,776 N2B2,776
= 318,000
< 95,400
= 222,600
403 X SHHMSAH=01H 636,000 888,776 N2B2,776
= 318,000
== 95,400
o 222,600
02 S 2SS0t et =& 2 E AL H| 636,000 888,776 N2B2,776
OUARI 7 XIZ2e| LM HE=AS 636,000
= 318,000
=S 95,400
s 222,600
N==Xl Ol=SAl 24 60,000 0 60,000
401 AlEHIZL SO 60,000 60,000
01 Al&HI 60,000 60,000
OXM==Xl 0I=SX 2& 60,000
=N THoHAIE M=Kl EHIALY 400,000 0 400,000
= 200,000
[ 100,000
Ea 100,000
401 AlEHIZL R0 400,000 0 400,000
s 200,000
s 100,000
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SA - ZE . BR() - HRAR - BES of v G o HIDE2
[Ea 100,000
01 AlZ2H| 400,000 0 400,000
O=d MoHASB M=K HBIAL 400,000
[ 200,000
= 100,000
o 100,000
M=K HES=SAHKAFIA42) 177,000 0 177,000
=S 53,000
s 124,000
401 AIEHIZ SR THYI 177,000 0 177,000
< 53,000
[Ea 124,000
01 Al&H| 177,000 0 177,000
Os8M=Xl HE=SA 177,000
= 53,000
= 124,000
C2o8 &5 12,058,360 10,000,778 2,057,582
[ 2,733,000
= 320,000
[Ea 9,005,360
== & X2 2 10,671,360 6,463,778 4,207,582
[ 2,733,000
= 320,000
= 7,618,360
2 |2l 1,067,100 1,125,518 68,418
101 @124H| 50,000 8,778 41,222
MU IIRINZZENSES 50,000 8,778 41,222
OusSg A Q12|
84,0333 x7&* 170 A& 10,000
ORLdg et&2e Xkt 40,000
201 Ler23 | 55,150 124,790 69,640
01 At22t2lt] 25,180 24,790 360
Odgt=3=H| 6,060
—EHEXN & NRES 1,000
— 228 A8l S 500
—CZ2E4A 2 Il MEE
50,000& * 122 600
—Eolltn 22AMRA SFHIAIAE
180,000& ~ 12 2,160
—CHEAXE EdAl
200,000 x9N 1,800
Okz=E+2 II=HI 4,290
—&ets 150,000& x 13« 12] 1,950
—&st 150,000 x 13 *13] 1,950
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T N 2 CH M2
M- B SRAEA) - HRAR - B2 of v G o HIDE2
—22 30,0002 *13E 12 390
O=23+¢ 1,200
LIS o
100, 00024 %6 % 23] 1,200
OEEL 3,600
—gEaNY 2
8,000 152 »30! 3,600
Ogxz 10,000
-T2 2g=E7 | & Xt
1,000,000&+105H& 10,000
2 35244l 30,000 100,000 70,000
OXtgrdet] 30,000
—CE=F & Bl=AXl8l
2,500,000 12& 30,000
202 04| 1,950 1,950
01 2K 1,950 1,950
OEzE4 2ol
150,000& 13 +12] 1,950
401 Al HIZL 201 950,000 990,000 240,000
01 Al&H| 950,000 990,000 40,000
O2k & sHEEZ =M 100,000
Ozt ¥ sHEXZ T2 100,000
OZk ¥ sHEEZ ATAIEE &X 50,000
OAl&E et EH 100,000
OAMEE &HI 400,000
Pdg 3ol 200,000
2 =47 5,260 5,260
201 er23| 3,000 3,000
02 S3=gHl 3,000 3,000
OAIE2 &= X 3,000
—HE&g & 3,000
206 M=4l 2,260 2,260
01 MHZHI 2,260 2,260
ONExREE detZs 12,0003 80X 960
HUER S 1,300
T 1258 EHLYTA} 2,716,000 1,600,000 1,116,000
[ 1,358,000
s 1,358,000
401 AIEHIZ SR THYI 2,716,000 1,600,000 1,116,000
[ 1,358,000
[Ea 1,358,000
01 Al&H| 2,716,000 1,600,000 1,116,000
OZERSH(AN2~3H) HEE A 2,716,000
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Hu: C2)|p HE
el 2= & NYE 2 (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 1,358,000
s 1,358,000
ZESH(S-FY) BHY A 200,000 0 200,000
= 200,000
401 Al HIZL S 0HYI 200,000 0 200,000
= 200,000
01 A28l 200,000 0 200,000
OZE B (EHY)EE ALY 200,000
[ 200,000
ZE18SH (ST~ )HE S AL 20,000 20,000
401 AIEHIX R0 20,000 20,000
01 A28l 20,000 20,000
OZL1BSH (SE-UE) WL S A 20,000
SHEZZ FdHMUSH IHESA 600,000 600,000
401 AIEHIZ SR OHYI 600,000 600,000
01 Al&HI 600,000 600,000
OsHEEZZ FHBE0USH IHESA 600,000
SHEZZ FdH 2075d HESA 800,000 800,000
401 Al HIZL 01| 800,000 800,000
01 Al&H| 800,000 800,000
OsHEEZZ FHHA7S HESA 800,000
NEE10245 6 (SR~AI2) 8 A 300,000 300,000
401 Al HIY S CHYI 300,000 300,000
01 AlZH| 295,000 295,000
OXILE10245H (S X~AI2) 88 HA ALY 295,000
03 Al 20HHI 5,000 0 5,000
OXILE1024SE (S X~AIZ) 88 HE ALY 5,000
N ==81 A A 590,000 1,660,000 A1,070,000
== 15,000
= 575,000
401 Al HIZL 201 590,000 1,660,000 A1,070,000
= 15,000
[Ea 575,000
01 AlZH| 590,000 1,660,000 A1,070,000
OZ& RSH(HS) BiAZXZ 4X 150,000
OSHEEZZ 0ISH2132 SESA 200,000
OsHEEZ NS =TI 100,000
Ogxiote ot Jted EXI(FE0 0l
&) 20,000
OMYH ZE6sH ATEE AMA(ZAEE =
BIEOI 0l &) 1,250,000 *40m 50,000
s 15,000
s 35,000




SN ALDED
M I &5
el 2 XY 22 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
| ool Fs: sy 70,000
C2E 24Dl A 333,000 333,000
101 @124H| 125,000 125,000
04 JIZtNZ2 2N SE+ 125,000 125,000
OE=28 ZHIJ| el2b]
125,0003 x5 10222/ 108X 125,000
201 2= 5,000 5,000
01 Al 22IH| 3,000 3,000
OEHIDI &el ARE(ZY, 22 )72
300,000 105 3,000
2 35234l 2,000 2,000 0
oXgele Moli2g= 2,000
305 =S 3,000 3,000
01 Hie=S 3,000 3,000
Odali28 IIRE= 300,000&4 %1021 3,000
401 AIEHIZ SR OHYI 200,000 200,000
01 Al&HI 200,000 200,000
OE2H EHIDI & SIMNIZ SKIZC|AL
& 200,000
LoISSRH e (HEALY) 550,000 400,000 150,000
= 275,000
[Ea 275,000
401 A& HIX R0 550,000 400,000 180,000
[ 275,000
o 275,000
01 AlZ2H| 550,000 400,000 150,000
OLoI2s 7 FH|(0ls BEZZ2Y 2 504
) 550,000
[ 275,000
Ea 275,000
OHE0IES7 N (HEAY) 70,000 100,000 230,000
= 35,000
o 35,000
401 AIEHIX SO 70,000 100,000 /30,000
= 35,000
o 35,000
01 A28l 70,000 100,000 /30,000
ONE0I2S7S HHI(HEx 2 30HA) 70,000
== 35,000
o 35,000
U=X7 SFAK SUASEX T W 600,000 200,000 400,000
s 300,000
s 90,000




SN ALDED
3 £2I|8 =25
el 2 XY 22 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
[Ea 210,000
401 AIEHIX 20 600,000 200,000 400,000
[ 300,000
= 90,000
= 210,000
01 Al&H| 599,000 200,000 399,000
OUt=X=7 SZAN SUAS X7 e 509,000
= 300,000
& 90,000
= 209,000
03 A2 THYI 1,000 0 1,000
OUt=X=7 SZAN SUAS X7 W 1,000
A7 SZ A SUAE X7 e 600,000 800,000 200,000
[ 300,000
= 90,000
o 210,000
401 AlEHIZ S 0HBI 600,000 800,000 200,000
= 300,000
& 90,000
= 210,000
01 Al&H| 539,000 800,000 201,000
O&JHA7 SEAH SUAEX 7 A 599,000
= 300,000
< 90,000
Ea 209,000
03 Al 2CHYI 1,000 0 1,000
O&JHAI7t SEAH SUASX 7 A 1,000
SH3AF SSAK SUABK T e 600,000 200,000 400,000
[ 300,000
= 90,000
= 210,000
401 Al HIZ 2018 600,000 200,000 400,000
= 300,000
[ 90,000
Ea 210,000
01 Al&HI 599,000 200,000 399,000
OSE3X 7 SSAHK SLASX T A 599,000
s 300,000
== 90,000
o 209,000
03 Al 20HHI 1,000 0 1,000
OSE3X 7 SSAHK SLASX T A 1,000
ot =Xl2tel 1,630,000 0 1,630,000
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el 2= & NYE 2 (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
201 er23 | 70,000 70,000
2 52484l 70,000 70,000
Ogditin HIIN S 332 70,000
401 AIEHIX R0 1,560,000 1,560,000
01 A28l 1,560,000 1,560,000
Odolithn IIHNEH(BIIE 13]014))
30,000,000& =23 60,000
Ogoiiin HUHMEZ(2EOICH, 215 AIE) 50,000
OEolithin AHOISHESE EHEF (30t
Ct, 20 AIE) 70,000
OHSALE =X & WEEH A2
e 150,000
OAtEEZ2EX /522l 30,000
0302 HASTY U SH(3EOICH, 20N
) 200,000
Odgolitin 22 1,000,000
SHEZZ 2] 1,387,000 1,487,000 100,000
Ofserd 2 dgz JHe 1,237,000 1,417,000 180,000
401 AIZHIX 20HH 1,237,000 1,417,000 180,000
01 AlZ2H| 1,237,000 1,417,000 180,000
Od40ts o2 EHl 20,000
Ou=0r= etz 3 10,000
OO0rE0lE dgZ Jt=die £X 20,000
OO0rECIE ¢ =2AEE £X 10,000
830t 2 =2 £X 30,000
OO0t otz 3 15,000
Oddits o2 == &dl 10,000
OR8g =2 =¥ 40,000
Osg0ts Mgz 2 15,000
Ox=20t= ¢ ti+=2 E4| 25,000
O3tAIOtS e+ == EH| 25,000
O4dits o2 ExSA 50,000
OF=20ts o2 == ddl 15,000
O=glts o OtAZ Z& 36,000
Osd0tE o+ otAZ =& 22,000
O=3i02 =2 FHi 20,000
Odzlts e+ == &bl 10,000
OXIELtE N3 2HEE 41 9,000
OXzx=0t= & =2 E4| 25,000
OgXlots etz i 30,000
O0I=% t{i== HH| 50,000
OArelitEs ¢ Xt =M g HH] 25,000
Ox=&0ts & OtAZ Z& 25,000




AL WS
C20IE &E
sSHEEZ 2l CHe &)
SA - ZE - BR(0) - HRAE - B of v G o HIDE2
OO0Ix0tE e+ oAz ZF 30,000
Og8® HASIXE &X 30,000
OSE3dE =8 3234 20,000
O=H0tE =2 ti== &l 20,000
Og&Ell= o2 ti+2 3l 25,000
OgzElts ¢ OtAZ =& 20,000
O2X0I2(EY) et OtAZ EE 30,000
Og=0l=s Ngr 2az &g 20,000
OZEOE MYEZ OtAZ2 ZFE 30,000
OkNl=z0te &2 =& 30,000
ORE0ts &2 =& 10,000
Ogailts &gz 2 25,000
OS20IS OtAZ MEESAL 65,000
OsZalts 222 2+ 10,000
O=gxllt= o &2y 30,000
OUiAtel =2 E4 25,000
O2=0t= == EH 18,000
OFS0tE JtEdY X 2,000
OZa0ts Yz HEH 30,000
Os0EEZ 20324 ti==2 &l 30,000
OsZ0ts &2 &bl 10,000
OZI=0tE =2 & 30,000
Oss0ts &2 == &dl 10,000
OR&1cl =t OtA2 2 30,000
O&dlts & OtAZ Z& 30,000
Oaitllls & otAZE 2F 10,000
OuEllE o2 2 15,000
OAZ0tS o2 ot~ dH| 30,000
OXElts & OtAZ =& 35,000
OI=8X 24 150,000 70,000 80,000
401 Al HIZ S 0HbI 150,000 70,000 80,000
01 AlZ8| 150,000 70,000 80,000
OllZ2EX 24t 150,000
wnE=2st &4 6,865,066 6,557,816 307,250
= 44,250
= 505,535
= 341,233
o 5,974,048
usEs 3% 911,492 1,416,182 A\504,690
s 150,600
s 760,892
wNSHE AHIA MBS 321,574 375,130 A\53,556




od
i’
oF
uJ

8138 S8 818 S8 & T8N B3
D |3 OO o | O © | © (o)} Ne)) A | P~ | P~ D | D
0 “IF gz Z i = 3|5
ki0 <1< <
E
F=)
218 e|e S8 S8 S8 B8R 218
S|S S|S e o |0 Ble | > |B
SIS SIS s|s B GBI |
4y
1<
RIS
I8 &8 8 8 8 8 38|18 8|18|8 81818 8 m%%mwﬁ%%%%wmmmw
ol & S ® = B o9l 9|5 §S5 S g|Tg S ee @ glelv 8§ ®
al
<
S
ToWm 3 o <0 ] ol ol ol T
R ? < N b S s o
— x — = A * X * X * ar
W T X ® ® W o ) IR
or S & ZH B8 < 3 98 oD g 8
w 5w 28 g3 = || 2 By L g s
B & g 8. i 3 o "B g 8 =
a1 IR=1 w0 i B e SN
= sH¥s 9 ¢ 9 SIS A
~< R =< = = Al
W Hg®m = &K = o P on o )
. W2 @ = oo e a! Q = = o0 yo X
0 = = k{0 5 iy = ~ D I+ = =
= Ao o B s i a0 W o) o o)
e =R A R . = A T 5 M
T ooX 4 o ox = (0¥ o AR a2 |z =k K v W
F || & I = F_ <= g LY of ==m |® woow || =K
nr [ =g =l S S == L I L LI N N N L N I
. |z I o T K SRR R (B DR[0T K (R0 KR~ nJ . |8o|m W D R
= [®|m 2 = — X FORV|KE[KE ®O[= oo KU m: M| Ko B [S|m R ™ (&5 lz B R |p|m T W
R o lZilr < o3 < @ o ®io|a Wl 3F|z|lag T |[&a ws = |Blala ™ ®O[Z|oF Do =
R ||z & = @ @ | ez Ala|s || o | |ais) F30 & |wl|a|s W K |a|= o | _
RO
ol|o oo S |o o[~ S |e o) 5| S oo
X ~ ~ oV} ™ ™ o | — oV




FAN AZUSH
33 SEs =4
ol usEst ¥ EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OHALH S S™AIZIE M
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ONsSiHSES SA+Y
375,000 *42] 1,500
OSERIFINY REFIA Y
5002 +2,000& 1,000
OMNSAUSFLEAN, SBAHHA
2003 *3,000& 600
O2AZ AN 224, B4, THeHE 79
700,000 52 3,500
OESd #=aA 0182 oIt 2
750,000 52 3,750
2 52484l 12,400 12,400 0
Otsxtg /%7l S
350,000 «2CH* 12& 8,400
O2ARLESAE g% N2AAH 22+
4,000,000 * 14 4,000
SYFII o5 28,760 101,560 A72,800
201 2= 15,760 16,560 A800
01 At22telt] 9,400 10,200 A800
Oggt=3=H| 5,000
—F=XRAL AEIH S 300,000 42 1,200
— X BEXE S
120,000 %1574 A 1,800
—0XAM ZelH EH S
500,000 *42] 2,000
O58 usHHRFA S =&Yl
8,000 x3& » 1004 2,400
OZFAISIY AT ZAAAAS] BALL
100,000 x2& x 102 2,000
02 s3=gHl 6,360 6,360 0
ORQoltts & =Y =5 Jtiiet RXIEs
65,0002 * 14CH 910
Oltthe 234 RS HEASK 450
OJtat A Zt==H A A" SR 2
2,000,000& %14 2,000
OZU FHXUSA7A EAAN (ASAIE
S) 300,000& *107H 2 3,000
401 Al HIZL 201 13,000 5,000 8,000
01 Al&H| 13,000 5,000 8,000
OSY=dxt =X HAl €% 5,000
Ok= =YX 2538 WA
4,000,000 =2CH 8,000
= 2l 131,240 98,840 32,400
201 et 3| 72,600 70,200 2,400
01 At22t2l] 67,200 66,600 600
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SA - ZE . BR() - HRAR - BES of v G o HIDE2
Odit=3=H| 2,400
—golls - AFE - Y FXESEA IS &
EaHYl 00,0002 * 12 2,400
OYA=XE 22X SRH(EHE)
2,700,000 x2J4 2=* 12 64,800
2 S5=24g4l 5,400 3,600 1,800
O332= € HMAl 450,000& 123 5,400
307 el2tol & 8,640 8,640
05 212t =S 8,640 8,640
OAMEN=SEFIAT S 22
360,00021 122 4,320
OHECHE TAXIE SIEA DI2A9Ie
360,000 * 122 4,320
401 Al HIZL 201 50,000 50,000
01 Al&H| 50,000 50,000
OALEDIE SEFXE FHISAHFUE
&) =X EHI50,000,0003 *14] 50,000
VA 26 AAete 245 A 2,000 2,000 0
= 600
o 1,400
301 Eet2 NS 2,000 2,000 0
== 600
o 1,400
14 JIEt2 8= 2,000 2,000 0
OLgkt 28HH Nalghy 24
100,000& 20 2,000
= 600
= 1,400
ol HAZBAIAE(BIS) 2 80,576 82,096 21,520
201 er23y| 12,168 16,188 A\4,020
02 S3=gHl 12,168 16,188 A4,020
Os&R= & A 12,168
—HAZFERHNI| SARS(169H2)
50,0003 1674 =% 123 9,600
—HAFHBCHUI| HII23
13,3703 x 1674 A+ 12 2,568
308 AtXIEMSOIE 43,408 43,408
1 SISt AS A Y] 43,408 43,408
O20223 HAZEAIAE(BIS) K2 43,408
403 AXIEHHSAH=201H 25,000 22,500 2,500
02 SO 2SOt stA=2H 2 €A H] 25,000 22,500 2,500
OHAHSZOHHII(BIT) FIt &XI
12,500, 0002 =2CH 25,000
FREZINAXZ (HEALY) 300,000 0 300,000
= 150,000
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FAN AZUSH
BN DESS X4
ool tsusEe &2 (SH &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
LEWSIE At 1,500 0 1,500
= 750
== 300
[Ea 450
308 XXM SOIA 1,500 0 1,500
= 750
=S 300
s 450
1 SISt AS A 1,500 0 1,500
OLEWSIHE OtLelXl XA 1,500
= 750
= 300
[Ea 450
S2=gM HEXE 4,353,566 4,008,724 254,842
= 19,500
= 505,535
< 189,833
= 3,638,698
HA(SY) & HAIGH HE XIS 249,926 227,919 22,007
= 70,000
== 35,000
o 144,926
101 e/24d| 56,735 50,378 6,357
M ORNZZ2NSE S 56,735 50,378 6,357
OtA & - ofxt =<0 56,735
—QI2A4H| 76,9603 x2H+252U x 122 46,176
—L=Hl 200,000 2 400
—40f 8= 92,352,000 *11% 10,159
201 2= 1,500 850 650
01 At22t2lt] 1,500 850 650
O3g3S(FHoIHA) eIZ2H MA
1,000,000 %12 1,000
OHAIZ AR BA+
100,000& 5 *13] 500
301 EtE2 NS 136,400 136,400 0
[ 68,200
= 34,100
o 34,100
4Bt 2 a3 136,400 136,400 0
OE=2d Al 28 T (244012) 136,400
[ 68,200
== 34,100
= 34,100




FAN AZUSH
. pESI 54
Cel: 2+2H HEXH EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
307 lztol & 50,000 356,000 15,000
09 2+AE2LS 50,000 36,000 15,000
O3gHA 2% X2 (1) 50,000
308 AXIHS0IA 5,291 5,291 0
[ 1,800
= 900
= 2,591
N S| 2SHUEE SHAS AN 5,201 5,291 0
OHAIZHEE 2AcIAAE B82S 1,691
O=Q28HE USUSORNAIAE AR 3,600
[ 1,800
= 900
= 900
HA(SE) & SHAILH HE X (2X) 265,125 265,125 0
= 19,500
= 1,525
= 244,100
301 LEtE NS 252,000 252,000 0
= 19,500
Ea 232,500
14 JIEt 2 a3 252,000 252,000 0
020238 HAIZ A 224
(30,000,000 *2CH )+(64,000,000& *3CH) 252,000
= 19,500
s 232,500
307 elztol & 13,125 13,125 0
= 1,525
= 11,600
09 2+ AE2LS 13,125 13,125 0
OHAIRS IHEZM+=+=8 XI& 13,125
= 1,525
Ea 11,600
ANUSOHEHA HEXAS(SEE 1S2E M) 500,000 500,000 0
[ 250,000
o 250,000
307 212+01& 500,000 500,000 0
= 250,000
T 250,000
09 2+LAELS 500,000 500,000 0
OAlU, sO{EHA THEXE (sE8ns2d
e THEXIH) 500,000
= 250,000
o 250,000




FAN AZUSH
BN DS T4
Cel: 2+2H HEXH (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
AU - sOHEHA HE X 1,660,800 1,360,800 300,000
= 120,287
= 1,540,513
307 el2to| & 1,660,800 1,360,800 300,000
= 120,287
[Ea 1,540,513
0 2=EHEXS 1,660,800 1,360,800 300,000
OsHEHA A XIR (200H) 1,350,000
—2=3 AL 12l S 1,350,000
[ 114,887
Ea 1,235,113
OsSHEHA HLEQSH £A2HS 300,000
OsSHEHA WEIHE =2 XIE 1,800
= 900
o 900
OsHElA 230 X 9,000
& 4,500
Ea 4,500
Siled =4 2o 677,715 510,000 167,715
= 185,535
< 33,021
[Ea 459,159
307 lztol & 677,715 510,000 167,715
= 185,535
=S 33,021
s 459,159
0 2FSHEXS 677,715 510,000 167,715
O8NS EABAZ(3BM =4) 677,715
[ 185,535
= 33,021
o 459,159
ANEEXNSI RIIEES X2 1,000,000 1,200,000 200,000
307 212+01& 1,000,000 1,200,000 A200,000
09 2FAHEXS 1,000,000 1,200,000 A.200,000
OAMPERSX FItEES N 1,000,000
AH2IBJH(ALNS) 789,600 735,660 53,940
S 302,450
o 487,150
el 2E | 712,740 665,940 46,800
== 302,450
o 410,290
IR HH|(EX) 712,740 665,940 46,800
== 302,450




FAN AZUSH
M HYRAZH(ALDS)
el i Eg| (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
[Ea 410,290
101 @1A4H| 712,740 665,940 46,800
=S 302,450
s 410,290
03 SR (FIH )22 UHE 4 712,740 665,940 46,800
otz=+3 712,740
—JlEs 3,300,000& x13E «12& 514,800
S 302,450
= 212,350
—fEg2fE 60,0003+ 132+ 122 9,360
—ItESE 100,000 x13& « 128 15,600
— AU ArE 180,000 x13& «12& 28,080
— ()= 50,0002+ 112 600
—x3=4 125,000« 13+ 123 19,500
—AREQI=E(ED
50,0002 x 132 *10AI 2+ 123 78,000
—SEFOHI 3,000,000 *13E *120% 46,800
=34 76,860 69,720 7,140
JlEgdl(AL2elE) 40,860 33,720 7,140
201 er23 | 21,800 17,000 4,800
01 At2teltl 21,800 17,000 4,800
OZAEg dit=SH|
1,500,0002 122 18,000
O&MEE SEH 8,000 x19& »254 3,800
202 04| 13,900 11,500 2,400
01 =LHOLI 13,900 11,500 2,400
OZA2g o4l 20,0003 19 *5& 1,900
O=LH04HI 20,0002 x5 120! 12,000
203 gR=8| 5,160 5,220 260
MU A2 LRFAI 5,160 5,220 260
ORANEgeg =AY 430,000& x12& 5,160
Jl=2ZHI(=sE0I8HE) 7,200 7,200 0
202 04| 7,200 7,200
01 2K 7,200 7,200
O=U048I 20,0002 x3&* 1202 & 7,200
JlEZe(ezg) 14,400 14,400
202 04| 14,400 14,400
01 =LHA LI 14,400 14,400
O=LH04HI 20,0003 x6EH 120! 14,400
Jl23tl(nse) 14,400 14,400 0
202 04l 14,400 14,400
01 =LHAHI 14,400 14,400
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